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Z:(2000) Ab2IOH 2 Hl 2:(2100) S L 2 3] &:(2120)2 ¥ 2stolzs =4 N&:(2122) =23t s 8435 K& (230l (9 :E3)

o = Gf &b oA &b = J| =
A, BB HE KNG =
ZWe B3l = 13,000
LAOLEH O AL X2 = 70,000
ANBE 18 RENE JN 23 = 18,000
2,270,000 |04 QI2FEHALE X

SOl = SAH(18DH B A = 500,000
M105 S=0t N2 DR0I=H = 20,000
st = s IR = 15,000
M43 HEHZ=HSARMBAL JHE = 1,400,000
2RC ~ O3 2o NBAY = 20,000
UAC ~ LYY 2EHDEAY = 15,000
M2sl 2 st otestHl JHE = 300,000

i?ggmw 4 580,000 [2 300,000 & 3,820,000 Ol 0 2 0 =  460.000]

;‘%Mg 300,000 [2 300,000 & 0 I 0 2 0 = 0]

307
0I2+0| & 300,000
300,000 |04 BI2HEHAME =

Zololz BASHHRP2RISOAM) = 300,000

[2 300,000 & 0 7l 0 = 0 =2 0]

izr%wg 4280000 [= 0 & 3,820,000 7 0 = 0 = 460,000]
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i =2
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L2 8 NE, AAIE =
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3,570,000
170,000
1,400,000
2,000,000
307
oI2+0| ™ 150,000
150,000
EtDl 2 150,000
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AP R=5 E=T S| 560,000
560,000
& 100,000
= 300,000
< 0 2l 0 300,000]
Xl 160,000
< 0 2l 0 160,000]
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SareIlY T 3,025,000 = 8,00 2l 2,995,000 0]
20 = 30,000 7| 2,995,000 0]
AHS Ol &F 3,025,000 - ’ ’ ’
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KNG 2SAMAARHE (CRC) KR AY = 215,000
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403
NXSHM 201 A 2,810,000
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307
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r
[0

i =
O &b oA &t = Il e
o2 8L ME AAE =
513,000 |02 Sl2tHat2 X
SAUAMEM 2E = 513,000
[= 256,500 &= 256,500 I 0 = 0 = 0]
150,000 | 04 SIZ2tSHALE X
22230z MEEIZIXIZAS = 150,000
[= 0 & 30,000 I 120,000 = 0 = 0]
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XX HSO0IA 270,000
270,000 |01 NXISHHBLAEXS
StU~XIHGH Stz nsABEAE X = 270,000
[= 180,000 = 90,000 7| 0 = 0o = 0]
e [= 0 &= 1,964,000 DI 0 = 52,000 = 0]
FotdErzz Y 29 2,016,000 B - e = ’ =
100
a0l 4t 1,498,000
110
eials] 5,000
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ialls] 5,000
5,000 | 10 SAIAISE QIR Y
CEHU=t SHEXR LAIAMA 5,000
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da " A 1,493,000
201
Lot 140,000
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= = Ol &b oH ay = p) =
&2 8 ME MAE =
AR 1,321, 700& X418 X128 = 650,277
lgag 743,996,000 X4/12X50% = 124,000
Hoag 743,996, 00021 X2/ 12X70% = 86,800
os+g
XNE A L 2Kt 450,000& X128 X288 = 10,800
orE Y HRHE 300,000&X12&Xx2" = 7,200
& 2 SR2CR 250,000@ x12&8X48 = 12,000
THA CH2 200,0002X128X6Y = 14,400
AU 150,000&X12&X31¥¢ = 55,800
eSEIPN
XN& A L 2Kt 300,000&X12&Xx2" = 7,200
ofE o R E 150,000&X12&Xx2" = 3,600
an Y E20 100,0008IX 128X4 = 4,800
NESRE ! 50,000&X12&Xx6Y = 3,600
S HZAH| 60,000&X12&X458 = 32,400
nEs8 x| 80,000&X12&X45¥ = 43,200
Ol=t =0l = 85,204
REEHR PN - 20,000

|
N
|



E:(2000) AF3I 0 b 2H:(2100) RS L 254 8 (2120) 22 250z =4 Mgt (2125) 25tz 2 (23502 (S ®)
ot =
ol &b o At = | =
B MIE HIMIE =
MACHS] =01 EA = 15,000
307
0I2HOI A 20,000
20,000 |02 QIZtAAE X
ZHOHQI It B MSHE ELIAIE S = 20,000
200
= C £
AR Gl AF 518.000 [= 0 = 466,000 DI 0 = 52,000 = 0]
210 [= 0 & 0 Dl 0 = 52,000 =2 0]
BXALS 52,000 - - = ’ =
308
X SHHSOIA 52,000
52,000 |01 KIXISHHBAEXZ
ANees NASSALE XS = 52,000
[= 0 = 0 7| 0 = 52,000 =2 0]
220
KHHI AL 466,000
308
X SHHSOIA 441,000
441,000 |01 XX SHHIZAE X2
SHE2NAZH X = 30,000
AAIY S Dl=0HA = 20,000
H22AAAAN = 10,000
FEHOILIHAEY = 100,000
S2AAMEEH = 50,000




ZF:(2000) ARSI 02 Y] 2+ (2100) R S L 25| 8 (2120) 22 250z =4 Mgt (2125) 25tz 2 (25t (2= e)
ot =
ol &b oH At = | =
R B B MIEE HIMIE =
AN matetch CLf =3 o3| = 45,000
KL23H2 ALSHEEALYS = 126,000
SOLAIOF HAWE Has=H = 60,000
405
XHAHE S HI 25,000
25,000 |01 XML SEF S
CEsC o) Y HE P2 =
2130 [2 8,185,250 & 4,469,100 2 2,523,500]
23lg4to B2 = 15,377,850 - 11 - O = e
2181 (= 80,000 = 301,600 =
2349 Al 616,100 - ’ - ’ =
100
Ao At 46,000
120
A XA 46,000
201
st 9| 30,000
30,000 |01 LEr2HH|
BAR2Y L ARFX ABI2HY| =
202
o4 Hl 16,000
16,000 |01 2LH04HI
HREZ J|=20 =
200
2 [ =
ARSI 01 AF 570. 100 [= 80,000 & 255,600 =2
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ra
o

i =
ol Ao & = | S
N EN <
210 - - =
o ALY 380000 E 80,000 & 100,000 O 0 @ 200,000 = 0]
308
XX EFH S 01 & 80,000
80,000 |01 XHXISHHIZ AR XS
22 2l = 80,000
2 80,000 & 0 7l 0 @ 0 = 0]
403
XX EFR Kt 0| & 300,000
300,000 01 RXIEHHIKH2 R X
SHESH HADFH AY(FEA) = 300,000
(2 0 & 100,000 D 0 @ 200,000 = 0]
%%Wm 190. 100 (2 0 & 155,600 O 0z 0 =  34,500]
308
XX EHH S 01 & 190, 100
190,100 |01 RtXISHZ A xZ
LYY H52 N = 135,600
YSEoN 2E3 N = 20,000
T RSN SHHA N = 34,500
(2 0 = 0 2l 0z 0 2  34,500]
2132 5 - -
SHUE A U SEE| 14 551,750 [2 8,105,250 & 3,957,500 I 0z 0 = 2,489,000]
100
Ao 8,000




X (2000) AL 314 ] 2:(2100) DS L 25| 5 (2130) 23R40 BE - WS NI (2132) 28T 2 4 4 Sle D (29 &
ot =
& o & = | S
B HIEE MK =
120
2 AR 2| 8,000
202
Of bl 8,000
8,000 |01 =LHOIHI
Szl 24 - HH =X - 8,000
i?ggmw 14 543 750 [Z 8,105,250 & 3,949,500 O = £ 2,489,000]
QOMCH 10 354,750 [Z  8,105.250 & 2,249,500 I = = 0]
403
XFXI SR K= 0| & 10,354,750
10,354,750 |01 XHXISHHIXH2 2 =
HEANE 2EFH| = 748,500
[2 499,000 & 249,500 O = = 0]
SEHTE ST (2K E) = 9,606,250
[2 7,606,250 & 2,000,000 DI = = 0]
220 _
R 4.189.000 [= 0 £ 1,700,000 | = £ 2,489,000]
308
XHX EH S 0] & 100,000
100,000 |01 XHXISHHZ A E X2
SHNLESPA golX XH - 100,000
403
XFX] SR XHE 0] & 4,089,000
4,089,000 |01 XIXISHH K= =
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i =
Of &b o4 &t = p) =
&, 2, 8 e MAE =
2 MEFFHUB(EXEFE) = 1,000,000
U =atRre 2 - | = 100,000
soiEstEs+ EX0HY = 500,000
SXNEE3M E+=FH| = 2,489,000
= 0 & 0 JI 0 = 0 & 2,489,000]
2133
=3t E8Dgt 2& - A= 210,000
100
a0l &t 10,000
120
o83l 10,000
201
2 etE gl 10,000
10,000 |01 &BrEEH|
ZoMFClEON &2t = 10,000
200
AH Ol A 200,000
220
AHHI A 200,000
207
A0 2 Y| 200,000
200,000 |01 S 4]
HAEX=E S A=A = 200,000
£ A g 31,087,774




